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Lecture - 19
Distance between fuzzy sets

Welcome to lecture number 19 of Fuzzy Sets, Logic and Systems and Applications. And
here in this lecture we will have examples on a distance between two fuzzy sets. And this
lecture is in continuation to lecture number 18 where we have already discussed the
formulation for finding the membership values, corresponding to the generic variable

value that was lambda for the distance between two fuzzy sets.
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Distance between fuzzy sets

Definition:

Within the universe of discourse X, the distance d(A, B) between two fuzzy sets A
and B can be defined by the extension principle. The distance d(A, B) Is given as:

d(ﬁ-B) = z#au,a)(s)/" -+ For discrete fuzzy sets A and B
- e

d(A,B) = f Hacam(8)/8 | — For continuous fuzzy sets A and B
e - -

where, | faam(8) = maxXg_c.a oy [min (ua(x?), up(x™))] v 5 € R | &

and & is the difference between corresponding generic values of two fuzzy sets for
a generic variable.

Please note that x* and x” are the generic variables of the fuzzy sets A and 5,
respectively v x4, x# € X

So, here before | move to the example, | would quickly go through the formulation. So,
here as | mentioned earlier also that when we find the distance between two fuzzy sets let
us say A and B. So, this distance is the fuzzy set this distance value is fuzzy and this is
represented by a fuzzy set. So, this fuzzy set of course, will have the generic variable value
delta as well as it is membership values. So, and of course here the delta is the difference

between corresponding generic variable values up to fuzzy sets for a generic variable.

So, as it is written here that the distance between two fuzzy sets A and B that is represented
by d (A, B), which is equal to the summation of all the elements containing it’s membership

values over the universe of discourse. So, summation is used here for the discrete fuzzy



set case and on the same lines we have another formulation, where we used integration

sign integration symbol in place of a summation which is here for the continuous case.

And the membership value can be calculated by this formulation and these membership
values are nothing but for respective delta values. So, since we have already explained

enough in my previous lecture. So, let us now directly go to the example.
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Distance between fuzzy sets

Example 2: Find and plot the distances d(A,B),d(A,C),and d(B,C) for
fuzzy sets A, B and C given below with the universe of discourse X =
{1,2,3,4,5,6,7 8}. =

— A ={(2,0.7),(3,0.3),(4,09),(51.0)} |
B = {(1,0.2),(2,0.4),(3,1.0)} ‘
€ = {(5,0.3),(6,0.8), (7,1.0), (8,0.5)}

disout fu g Sels
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In this example we have three discrete sets A B and C and as | mentioned these are all
discrete fuzzy sets. So, since these are the discrete fuzzy sets, we will apply the summation
sign and we can you know accordingly minus to get all the values of the table that I already
mentioned in the last lecture. So, we have here the fuzzy A this fuzzy which is given here

is represented by a fuzzy set plot.

So, we have here a fuzzy set A and then we have fuzzy set B which is represented by the
fuzzy set as shown here and then we have the third fuzzy set which is here. So, please note
that these the generic variable for these fuzzy sets are nothing but the same the X. So,

generic variable is X here in all the cases.
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Distance between fuzzy sets A and B

Solution: Let us begin with the calculation of distance d(A, B) for given
fuzzy sets A and B with the universe of discourse X = [1,2,3,4,5,6,7,8)

A={(207),(3,0.3),(4,09),(5,1.0)}
B = {(1,0.2),(2,04),(3,1.0)}

Fuzzy set A Fuzzy set B

rhip Grades
[

Mo mbie
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So, here let us now start with finding the distance between two discrete fuzzy sets, here

also we have X here also we have X as generic variable in both the cases.
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Distance between fuzzy sets A and B

V8 &R () = maxg, 4 o [min (rale) m (=) =

I T T Jl B (0% LV 0 € X g () ™) € (OL1])
|
|
1
|
+
|

And if we see here as | mentioned in the last lecture that we have a table and this table will
have the delta value which is here. And then we have x, so x, is nothing but the generic
variable value which is present in the discrete set A similarly here is the generic variable
value present in fuzzy set B. And here u 4x4 and u gxp both are the respective membership

values and then we take min of these two u 4x,4 and u zxg.



So, that is how we fill these entries. So, let us now quickly go through and please note here
that we have delta which is here this is always positive real number. So, that has to be
noted because we are using here the mod of x A minus x B, so obviously delta is going to
be the real positive value. So, let us quickly go through completing the this exercise of
calculating the difference between two the generic variable value or in other words all the

possible differences right from 0 and above.

So, when we find all combinations we get these values of §. So, this § will have 10, 1, 2,
1,0,3, 21,4, 3,2. So, like that when we rearrange this we will get §(A) set which is 0,

1, 2, 3, 4. So, let us now start with delta is equal to 0.
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Distance between fuzzy sets A and B
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(x4.x*) = (2.23)3.3)

‘ d=0

And here we will see that we have these two entries these two pairs for which we get § =
0. So, it is like this and these values are filled over here see here these values will go here
and here so x4, xg and of course this is for § = 0. Similarly, we will find from the discrete
fuzzy set given the respective membership values and then when we take min we are going

to get 0.4. Now let us enter the values for the second pair.
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Distance between fuzzy sets A and B
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T T 4 (x4, x") = ((2,2).(3.3))

W =0

So, second pair is 3, 3 and we can see that these values are entered and the minimum we
are getting here is 0.3. Now we have to take max of these two. So, this is here is used to
compute the max, max is going to be 0.4 max of these two. So, as | already explained in
my last lecture, lecture number 18 and 17 both that we first arrange all the values of lambda
and then we find all the entries fill in the table and then we take the max values in the last

column.

And then we use first column and the last column for constructing the fuzzy set and this
fuzzy set is nothing but the distance between these two discrete fuzzy sets here. So now,

let us move ahead and take 6 = 1.
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Distance between fuzzy sets A and B
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So when we take § = 1. So, we see that these are the combinations these are the pairs
these four pairs are there and these four pairs will be entered in the table. You can see here
I am quickly moving ahead and since you already know as to how we fill these entries, so
we can quickly fill these entries here. Now for § = 1. So, we get the min values as listed
here and when we take the max of these we are going to get 0.9, so this is written over
here.
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Similarly, let us go and have all these entries for § = 2. So, when we take § = 2 we get
these three pairs and as | have already explained these pairs are coming from both the
fuzzy sets that are given. The both the discrete fuzzy sets A and B, now let us fill these

entries also here in the table.

So, when we fill these entries we are going to get here all the entries filled and we see here
that we are getting the max of all these as 1. So, this way we are getting p4(4 5)(6) = 1.

So now, let us move ahead and find all the entries for § = 3.
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Distance between fuzzy sets A and B
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So, when we move ahead we see that we have two pairs which are resulting § = 3. So, let
us fill these entries as well. So, when we fill these entries we find that the min is coming
as 0.2 and then for the second pair when we see we are getting 0.4 as the min of these two.
And as we have done in previous entries we take the max here finally and when we take
max we are going to get 0.4, so that is how we have entered here 0.4. Now for the last

value thatisa d = 4
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Distance between fuzzy sets A and B

V&R jyam(S) = maxg g4 I""“ (’A(",J‘l(“))l

Aol Lt e N (e ®) e ™) £ (0]

- — | (A xP) = ((5.1))

‘ . " | d=4

So, when we take § = 4 we are getting here a 5 and 1 only one pair for which we are
getting the difference that is delta 4 and this we are entering here and of course since we
have only one row here. So, max is going to be the same that is 0.2. So, when we do that
we quickly get all the delta values which are mentioned in the first column and the

corresponding membership values that are mentioned in the last column.
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Distance between fuzzy sets A and B
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So, now may make use of these two columns like for § = 0, the corresponding

membership value is 0.4 and then for § = 1 corresponding membership value is 0.9. And



then for 6 = 2 corresponding membership value is 1 here and then for § = 3 the

corresponding membership value is 4.

Similarly, for § = 4 we are getting corresponding membership value 0.2. Now let us make
use of this to construct the fuzzy set which is the resultant fuzzy set which is nothing but

the distance. So, here we have the distance between a two fuzzy sets A and B.

So, since we have written here we have made the use of the entries of column number one
and the first column and last column and then we are getting here all these entries. And
when we construct a fuzzy set this will look like this, this is nothing but the distance
between two fuzzy sets A and B and this way we are able to get the distance between two
fuzzy sets. Here in this case we have two discrete fuzzy sets and that is how we are able to

calculate the distance and which is again coming out to be a discrete fuzzy set.
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Distance between fuzzy sets A and B

MATLAS CODE: for k = O:max_deita

clear for | » 1:size{A.2)

close all for ) = 1:5ize(B,2)

cle i (abs{ A(1,]) - B(1,]) ) == k)

uafks1,1itempl, 1) = Mem_A(LI);
%% distance calculation®% ualks1 1)temp1 2) = Mem B(1.))

A=[2345] ua{k+1.1)(templ 3)=
Mem A = (0.70.30.9 1.0); min{uak+1, 1) templ. 1) ualk+1.1)templ 2));
B=(123) templ = templ+l
Mem_B = (0.2 0.4 1.0); chis
> ua(ke1, 1) (templ 1) = 0;
%% distance between A and 8 ualk+1,1){temp1,2) = 0,
% Maximum distance must be% uatk+1,1)templ,3)

temp(:,1) = min(A); min{uafk+1,1)(temp1,1),ualk+1,1)(temp1,2))
templ = templel;
end
end
end
delta(l ke1) = max(ua(k+1,1)(:,3))

temp(:,2) = max(A)

temp(:,3) = min(B)

temp(:,4) = max(8)

max_deita = max{temp) - min(temp)
X = (0:1:max_delta)

clear temp;

templ = 1; ua =[]

templ = 1
end

Now, we have a MATLAB code here. So, if you are interested you can make use of these
MATALB codes, you can generate you can compute the distance between two fuzzy sets
A and B and then you can generate the resultant fuzzy set. So, this is the same code that

was used to generate all these figures plots and entries as well.
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Distance between fuzzy sets A and C

Let us now calculate and plot the distance d(A, C) for fuzzy sets A and C

given below with the universe of discourse X = [1,2,3,4,5,6,7.8)
A={(2,07),(3,03),(4,09),(51.0)) v~ [ Lroade Payy Sebs
€ = ((5,0.3),(6,0.8),(7,1.0),(8,0.5)) ) =
Fuzzy set A Fuzzy set (
' '
‘5,, . Eoa

So, let us now take another example here, where we have to compute the distance between
two discrete fuzzy sets A and C. In earlier case we computed the distance between fuzzy

A and fuzzy B here we are computing the distance between fuzzy set A and fuzzy set C.

So, since these sets are already given A has been given like this and C fuzzy set has been
given like this, both of these fuzzy sets are discrete fuzzy sets again | am writing this
discrete fuzzy sets. So of course, as we have seen in the previous examples that the
resultant fuzzy set the distance is also going to be the discrete fuzzy set. So, here also we
see that we have the generic variable x in both the cases.
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Distance between fuzzy sets A and C

V&R pyacy(8) = maxg, 4,6 ll'IIll (VA(I‘).N(I‘))I ’

[.\ - v lu‘u‘: lu..n"; lmmu,u‘.‘.,u*‘n l Haaer (@) J 3 : ‘
. he values tor § will be given by the expression

|| & e LR € € Xl ) e lx) € (0]

And when we take these two fuzzy sets again on the same lines as we have done in the
previous example, if we try to find the delta values. So, as | had already explained and |

already suggested that we should start with delta is equal to 0.
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Distance between fuzzy sets 4 and C
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(x4, x5) = ((55))

d=0

So, for § = 0 here we get these pairs from x, and x., the generic variables of both the
fuzzy sets and in this case § = 0 we are getting only one pair that is 5, 5. So, let us quickly
enter this value in the table. So, as we have already seen in the previous examples we have

a delta column which is the first column. So, let us enter the delta value and this is nothing



but 0. So, we enter here in the first row we are entering here § = 0. Now let us quickly
take these values of x4 and x. which are like this 5 and 5 for which delta is coming out to
be 0.

So, we can fill these entries and now we will go ahead and find the corresponding
membership values. So, let us now see what are the corresponding membership values. So,
here if you see 5 is from here so corresponding membership value here is 1 and then in the
fuzzy set C we see that we have corresponding to 5 we have membership value here as
0.3. So, when we take minimum of these two we are getting 0.3 and then similarly see here

we have a § = 0 we have only one row.

So, the max of 0.3 since we have only one element so we can straight away right 0.3. So,

this way we are able to enter the first row values for § = 0.
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(x4, x€) = [(4.5),(5.6))

d=1

Now, let us quickly go ahead and take delta is equal to 1. So, we have delta is equal to 1
here and let us find all these pairs which are responsible for creating delta is equal to 1.
So, we have two pairs here first pair and the second pair first pair is 4, 5, second pair is 5,
6. So, let us now enter these values. So, first pair here is a for delta is equal to 1, we have
x4 4 and x. 5 and here we have 5 the other pair values 6 like this and then we’ll find the
corresponding membership values. So, corresponding membership value here will be 0.9

corresponding to 4 so 0.9 and then corresponding to 5 we have 0.3.



Similarly for 5, 6 we have here corresponding to 5 we have membership value 1 and then
we have here corresponding to 6 we have 0.8. So now, here if you take minimum of these
two we are getting 0.3 and minimum of these two we are getting 0.8. When we take
maximum of these two we are getting 0.8. So, this is how we are able to enter the values

correspondingto 6 = 1.
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(x4, x€) = ((3,5),(4.6).(57))

d=2

Now, let us enter the values of § = 2. So, when we take § = 2. So, let us see how many
pairs we get which are giving us the § = 2 the difference 2. So, we get three pairs so first
pair, second pair and third pair all these pairs are responsible for generating the difference

of two.
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So, let us now quickly enter these values here and we know as to how we enter these values
and then when we take maximum of these we are going to get 1. So, this is how we are
getting the corresponding to & = 2, we are getting it’s corresponding membership value

as 1.
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d=3

So, now let us find the number of pairs for § = 3. So, here we see that there are 4 pairs

which are coming from fuzzy set A and C, as x4 and x. values and the generic variable



values. So, these four pairs let us enter quickly here in the table. So, here we have entered

all these values and then when we take maximum we are getting here as 0.9.
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Similarly, now let us go ahead and find all those pairs which are responsible for generating
the difference that is & = 4. So, 6§ = 4 let us see how many pairs are responsible for
generating. So, there are three pairs so first pair here 2, 6 and then 3, 7 and 4, 8 these three
pairs are responsible for generating § = 4. So, § = 4 as | already mentioned is nothing
but the difference between the x, and x. and these values are basically the generic variable

values and these values are coming from the fuzzy sets that are given to us.

Here in this case these fuzzy sets are A and C and these both the fuzzy sets are discrete
fuzzy sets. So, this way we are able to quickly manage to enter all the values in the table
corresponding to § = 4 and the maximum value that we are getting here is the max of all

these entries we are getting here as 0.7.
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LR B

Now, let us do the same exercise for § = 5 and when we see we are getting two pairs 2, 7
and 3, 8 and both are responsible for § = 5. So, let us enter these values here and here we

are getting 0.7 as the maximum of 0.7 and 0.3 so this way this is also done.

(Refer Slide Time: 24:34)

Distance between fuzzy sets A and C

V8 &R pgacy(8) = maxg g a0 [min (ualet), we ()] '

T e e e e T R

8o lhe® LT e M T e

=

, o |

o
(x4, x€) = ((28))

d=6

And now let us go ahead and try to find all the entries corresponding to § = 6. So, when
we want to have the difference of 6, let’s see how many pairs that we are having which are

responsible for creating the difference of 6. So, this is pair of 2 and 8 which is responsible



for creating & = 6 that is the difference. And of course as | already mentioned that this is

coming from the A set and this is coming from the 8 is coming from C fuzzy set.
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So, are in the other words we can say this is the generic variable value from A set and this
is the generic variable value from C set. So, here we have only one pair and this pair is
responsible for creating the distance of 6, now let us enter this quickly. So, we will right
here at 6 and then we will right here two we will right here 8 and then let us now look for
the corresponding membership values, we will directly get these values from the fuzzy set

that has been given to us.

So, corresponding to 2 we are getting it’s membership value 0.7 this is coming from here
from fuzzy set A. And now corresponding to 8 which is here now let us quickly find and
enter it’s membership value which is nothing but 0.5. When we take min of these we have
getting 0.5 and since we have only one row, so when it comes to taking max so max will

remain the same.
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(x4, x€) = ((2.8))

So, this way we got all the entries that are needed to compute the distance between two
fuzzy sets. And now if we see here at the table we have the first row as the delta row that
is all the possible values or delta are there. And | would like to mention one thing here that
see delta is equal to 6 we have computed we have found all the values we have entries in
the table. So, can we have any entry for § = 7 also. So, the answer is no because we cannot
find any pair here which are responsible for creating the difference of thatis § = 7. So, no

pair is responsible for creating § = 7.

So, that is how or that is why we are not including the § = 7, because no pair here is
present which can create a difference § = 7. So, that is why we stop here and in the table

we are having only entries of § = 6.
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So, now we are using these delta values and it is corresponding membership values which
are in the last column and we see that we have corresponding to § = 0. So, for 0 we are
getting 0.3 as the membership value. So, we have written over here and then we have 1 for
delta value 1 we have 0.8. So, this is also written and similarly for all the values of delta
up to 6 we have written all the elements all the membership values and this d(4, C) this
d(4, C), means the distance between two fuzzy sets A and C we are getting A fuzzy set

which is nothing but the distance between two discrete fuzzy sets A and B.

So, this way we are able to find the distance in between two fuzzy sets and it is needless
to say that here both the fuzzy sets are discrete and hence they are getting the distance also
a discrete fuzzy set and this can be plotted here like this. So, I in the last lecture | mentioned

as to how we can plot the resultant fuzzy set which is here you can see.
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Distance between fuzzy sets A ang C

MATLAB CODE: for k = O:max_deita

clear for | » 1:size{A.2)

close all; for ) = 1:size(C,2)

clc I { abs{A{1,1) - C(1,)) ) == k)

%% distance calculation®% uafksl 1)templ, 1) = Mem_A(1,1);

ua{k+1,1Ktempl 2) = Mem_C(1,));

A=[2345] ualk+1,1){temp1,3) =
Mem A =[0.70.3091.0); min{uafk+1,1templ,1) ua{k+1.1)templ,2));
C=(S678); templ = templ+l
Mem_C = [0.30.81.00.5); e
ua(ke1,1)(vemp1,1) = O,
%% distance between A and C ualk+1,1)(temp1,2) = 0;
% Maximum distance must be% uatke1,1)templ, 3)

min{uafk+1,1)(temp1,1),uafk+ 1,1} temp1,2))

temp(:,1) = minfA); tempd = tampl+l

temp(:,2) = max(A)

temp(:,3) = min(C); M:,"“

temp(:,4) = max(C); peder

max_deita = max(temp) - min(temp); =

X = (0:1:max_deita) ?:.'y:‘"xx _h;l) max{uafk+1,1){:3))
clear temp; e P .

templ = 1; ua =[]

So, here also for the distance between two fuzzy sets A and B we have the MATALB code
and you can use these MATALB code for computing the distance between two fuzzy sets

and this MATALB code can also be used for plotting the resultant fuzzy sets.

(Refer Slide Time: 30:04)

Distance between fuzzy sets B and C

Let us calculate and plot the distance d(B, C) for fuzzy sets B and C given
below with the universe of discourse X = [1,2,3,4,5,6,7,8).

B = ((1,0.2),(2,0.4),(3,1.0)) <

C = {(5,0.3),(6,0.8),(7,1.0),(8,05)] «- -

Fuzzy set B Fuzzy set

3 -

Memis abip Grades
s » B »
Mermbe rabip Grades
2 » ®

Now, let us find the distance between fuzzy sets B and C. Where we have B as this discrete
fuzzy set which is given and C here is another fuzzy set which is given by this expression.

So, we have again all these two fuzzy sets B and C both are on the same generic variables.
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Distance between fuzzy sets B and C
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So, let us quickly now go ahead and find out the distance between these two fuzzy sets.
So, we remember that we first need to find a set of delta values and this delta values will
start from 0. So, we will quickly see that first we will try to find the difference of 0 and for
this difference of 0, we try to use the generic variable values of both the sets.

So, we see that we do not find any pair any such pair which creates § = 0. Similarly, we
do not find any such pair which create the difference of one that is § = 1. So, here a delta
is equal to 0 and 1 we are not including in the set and then when we move ahead we find
that for § = 2, means the difference of two can easily be created and from the entries that
are given in the fuzzy sets B and C. So, 2, 3, 4, 5, 6, 7 all these delta values are possible,

we will see as to how we are getting these differences.
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Distance between fuzzy sets B and C

V8 &R punc)(8) = maxy 0,0 [min (e G, pe ()]

¥ . . . . s
| 8 (0® - LV € € X g ") () € (0]

e ! ! ! | ! ] (x*,x%) = ((3.5))

S=2

So, let us take first the § = 2. So, § = 2 we have one pair these entries we have. So, 3 and
5 so this is one pair and this pair is responsible for creating the difference of 2 thatis § =
2. So, let us quickly enter all these entries in the table and that is how we get the max here
also 0.3 in the last column. And now let us quickly go ahead and find all these entries for
§=3.
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Distance between fuzzy sets B and C
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So, for § = 3 we see all these entries and you can follow the same procedure for finding
all these entries. And you know when you take max of these min values here then you get

0.8 for § = 3 and let us now see what we are getting for delta is to 4.
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Distance between fuzzy sets B and C

V8 &R pancy(8) = maxy, o0 0 [min (uy (), pe(x))]

8o (le® LT (M) € 0]

(=¥, x€) = [(1.5),(2,6),(3.7))
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So, for § = 4 we are getting three pairs, here first pair second pair and then we have third
pair. So, this way we get three pairs and all these three pairs we are entering in three rows
and then when we take the max of these min entries. So, we are getting 1.0 means 1. So,
we quickly get the corresponding to 4 means § = 4 we are getting it’s membership value
1.
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Distance between fuzzy sets B and C

V&R pyncy(8) = maxy g n 0 [mins (g (), e (x)))
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Now, let us take § = 5 and again we have a three pairs of xz and x.. So, let us now enter
these values on the same manners, you see here so we get for § =5, we get it is

membership value as 0.5.
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Distance between fuzzy sets B and C

V8 &R pyncy(8) = maxy (w0 [min (g (), pe(x))]

[ = [ = [rae [res | mmtnstemsocte | amer®® |

o ® LT T e N T ) € (0]

(", x) = ((1.7),(2,8))

d=6

And when we take § = 6 we get all these entries filled and since we have two pairs only
which are responsible for creating the difference of a 6, that is delta is equal to 6 we have
two rows here and when we take max of this we are getting 0.4. So, we are having it’s

membership value 0.4.
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Distance between fuzzy sets B and C
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Nextisa § = 7. So, for § = 7 we are having only one pair and this pair here for delta is
to 7. So, we enter the values of xz and x. which are responsible for creating the difference
between these as 7. So, we just enter these values here so x5 here is 1 and x. here is 8 and
this way we are getting it’s corresponding membership values from the fuzzy sets B and

C and that is how we fill these entries.
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Distance between fuzzy sets B and C
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So, we see here that when we pick these membership values and the corresponding delta

values from the last column and first column respectively. We see that we are able to get



a discrete fuzzy set and this is nothing but the distance between two fuzzy sets B and C
over the generic variable x. So, when we are interested in plotting this we are getting this

plot, so this plot represents the distance between B and C.
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Distance between fuzzy sets B and C

MATLAB CODE: for k = 0:max_deita

clear for | » 1:si2e(B,2)

close all for ) = 1:size(C.2)

clc If (abs{ B8(1,1) - C(1,]) ) »= k)

ualke+l,1)templ,1) = Mem_B(1,1)
%% distance calculation¥% ua{k+1,1)(temp1,2) = Mem_C(1,]);

B=[123) ualk+1 1 templ 3) =

Mem_B = (0.20.4 1.0] min{ualk+1,1}templ,1) uvalk+1,1)templ, 2));
C=(5678); templ = temp1+1
Mem_C=[0.3081.005] else

%% (a): distance between 8 and C uske1,1)mempd, 1) = O

ualk+1, 1Ntempl 2) = O,
uatk+1,1)templ. 3)

temp(:,1) = min(B); min{ualk+1,1)(temp1,1),ualk+1,1)(temp1.2));
temp(:,2) = max(8) templ = templel;

temp(:,3) = min(C), end

templ(:4) = max(C) end

max_delta = max(temp) - min(temp) end

X = (0:1:max_delta) deftall k+1) = max{ualk+1,1)(:3))

% Maximum distance must be%

clear temp; templ = 1
templ = 1; va =[] end

And here we have the MATALB code for finding the distance between two fuzzy sets B
and C. So, if you are interested this MATALB codes you can use for finding the distance
between two fuzzy sets and generating the plot for the resultant discrete fuzzy set. So, this

way we have seen that the distance between two fuzzy set can be found.

So, if the fuzzy sets are discrete fuzzy sets, the resultant distance between these two fuzzy
sets will be a discrete fuzzy set and if these fuzzy sets are continuous fuzzy sets, ofcourse,
the distance between these two fuzzy sets are going to be the continuous fuzzy sets. So,
this way we understood as to how we can manage to find the distance between two fuzzy

sets. So, here we will stop and then in the next lecture we will study the fuzzy arithmetic.

Thank you very much.



